

14.6: 1 3 5 7 15 ^{opt.} 17 23 22 29 31
 14.7: 1 3 5 7 11 13 19 21 23 29 35

Chapter 14 HW

Orion Kress-Santilippo

14.6

1) $f(x, y, z) = x^2 y^3 + z^4$ $x = s^2$ $y = st^2$ $z = s^2 t$

a) $\frac{\partial f}{\partial x} = 2xy^3$ $\frac{\partial f}{\partial y} = 3x^2 y^2$ $\frac{\partial f}{\partial z} = 4z^3$

b) $\frac{dx}{ds} = 2s$ $\frac{dy}{ds} = t^2$ $\frac{dz}{ds} = 2st$

c) $\frac{df}{dz} = 4(s^2)(st^2)^3 s + 3(s^2)^2 (st^2)^2 t^2 + 8(s^2 t)^3 st$

3) $f(x, y, z) = xy + z^2$ $x = s^2$ $y = 2rs$ $z = r^2$
 $\frac{dx}{ds} = 2s$ $\frac{dy}{ds} = 2r$ $\frac{dz}{ds} = 0$
 $\frac{dx}{dr} = 0$ $\frac{dy}{dr} = 2s$ $\frac{dz}{dr} = 2r$

$\frac{df}{ds} = [2rs \cdot 2s + s^2 \cdot 2r] + 2r^2 \cdot 0$

$\frac{df}{dr} = 2s^2 + 2r^2$

5) $g(x, y) = \cos(x-y)$ $x = 3u - 5v$ $y = -7u + 15v$
 $-\sin(x-y) \cdot 1$ $\frac{dx}{du} = 3$ $\frac{dy}{du} = -7$
 $+\sin(x-y)(+1)$ $\frac{dx}{dv} = -5$ $\frac{dy}{dv} = 15$

$\frac{dg}{du} = -3 \sin(10u - 20v) - 7 \sin(10u - 20v)$

$\frac{dg}{dv} = 5 \sin(10u - 20v) + 15 \sin(10u - 20v)$

14.6 cont

7) $F(u, v) = e^{u+v}$ $u = x^2$ $v = xy$

$\begin{matrix} \nearrow & \searrow \\ e^{u+v} & \\ \nearrow & \searrow \\ e^{u+v} & \end{matrix}$ $\begin{matrix} \nearrow & \searrow \\ 2x & 0 \\ \end{matrix}$ $\begin{matrix} \nearrow & \searrow \\ y & x \end{matrix}$

$\frac{dF}{dv} = e^{x^2+xy} \cdot x$

15) $g(x, y) = x^2 - y^2$; $x = e^u \cos(v)$; $y = e^u \sin(v)$; $(u, v) = (0, 1)$

$\begin{matrix} \nearrow & \searrow \\ -2y & \\ \nearrow & \searrow \\ dx & \end{matrix}$ $\begin{matrix} e^u \cos(v) & -e^u \sin(v) & e^u \sin(v) & e^u \cos(v) \end{matrix}$

$x(0, 1) = \cos(1)$ $x_u(0, 1) = \cos(1)$ $y_u = \sin(1)$
 $y(0, 1) = \sin(1)$ ~~$x_v(0, 1) = \sin(1)$~~ ~~$y_v = \cos(1)$~~

$\frac{dg}{du} = -2(\sin(1)) \cdot \cos(1) + 2(\cos(1))(\sin(1))$

23) $x = s + t$ $y = s - t$

Prove that $\left(\frac{\partial f}{\partial x}\right)^2 - \left(\frac{\partial f}{\partial y}\right)^2 = \frac{\partial f}{\partial s} \frac{\partial f}{\partial t}$

$$= \left(\frac{\partial f}{\partial x} \cdot \frac{dx}{ds} + \frac{\partial f}{\partial y} \cdot \frac{dy}{ds}\right) \left(\frac{\partial f}{\partial x} \frac{dx}{dt} + \frac{\partial f}{\partial y} \frac{dy}{dt}\right)$$

$$= \left(\frac{\partial f}{\partial x} + \frac{\partial f}{\partial y}\right) \left(\frac{\partial f}{\partial x} - \frac{\partial f}{\partial y}\right)$$

$= \left(\frac{\partial f}{\partial x}\right)^2 + \left(\frac{\partial f}{\partial x} \frac{\partial f}{\partial y}\right) - \left(\frac{\partial f}{\partial x} \frac{\partial f}{\partial y}\right) - \left(\frac{\partial f}{\partial y}\right)^2$

4.6 Cont

27) $(x^2y + y^2z + xz^2 = 10)'$ find $\frac{dz}{dx}$

w.r.t. x: $dx y + y^2 z' + (z^2 + dx z z')$

$$z'(y^2 + dxz) = -z^2 - dx y \quad \boxed{\frac{dz}{dx} = \frac{-z^2 - dx y}{y^2 + dxz}}$$

29) $(e^{xy} + \sin(xz) + y = 0)'$ find $\frac{dz}{dy}$

w.r.t. y: $x e^{xy} + x z' \cos(xz) + 1 = 0$

$$\boxed{z' = \frac{x e^{xy} - 1}{x \cos(xy)}}$$

31) $\left(\frac{1}{w^2 + x^2} + \frac{1}{w^2 + y^2} = 1\right)'$ find $\frac{dw}{dy}$ @ $(x, y, w) = (1, 1, 1)$

w.r.t. y: $-\frac{(2ww')}{(w^2 + x^2)^2} - \frac{(2ww' + dy)}{(w^2 + y^2)^2} = 0$

$$2ww' \left(\frac{1}{(w^2 + x^2)^2} + \frac{1}{(w^2 + y^2)^2} \right) = \frac{-dy}{(w^2 + y^2)^2}$$

$$\boxed{w' = \frac{y}{w(w^2 + y^2)^2} \cdot \left(\frac{1}{(w^2 + x^2)^2} + \frac{1}{(w^2 + y^2)^2} \right)^{-1}}$$

@ $(1, 1, 1) \Rightarrow$

$$= \frac{1}{4} \cdot 2 = \boxed{\frac{1}{2}} \star$$

14.7

1) $P = (a, b)$ is crit pt of $f(x, y) = x^2 + y^4 - 4xy$

$$f_x = 2x - 4y = 0 \Rightarrow x - 2y = 0 \quad \boxed{x = 2y}$$

$$f_y = 4y^3 - 4x = 0 \Rightarrow y^3 - 2y = 0 \Rightarrow y(y^2 - 2) = 0$$

$(y + \sqrt{2})(y - \sqrt{2})$

a) Soln @

$x = 0$	$y = 0$
$x = 2\sqrt{2}$	$y = \sqrt{2}$
$x = -2\sqrt{2}$	$y = -\sqrt{2}$

b) $(0, 0, 0)$ is a saddle pt

$(2\sqrt{2}, \sqrt{2}, -4)$ is an absolute min

$(-2\sqrt{2}, -\sqrt{2}, -4)$ is an abs min

2)

3) $f(x, y) = 8y^4 + x^2 + xy - 3y^2 - y^3$

$$f_x = 2x + y = 0 \Rightarrow \boxed{x = -\frac{y}{2}}$$

$$f_y = 32y^3 + x - 6y - 3y^2 \Rightarrow 32y^3 - 3y^2 - \frac{13}{2}y = 0$$

$\boxed{y = 0 \text{ (F)}}$

$$32y^2 - 3y - \frac{13}{2} = 0 \quad y = \frac{3 \pm \sqrt{9 - (4)(32)(-\frac{13}{2})}}{64} = \boxed{\frac{3 \pm 29}{64}}$$

$y = -\frac{13}{32}, 0, \frac{1}{2}$	$x = \frac{13}{64}, 0, -\frac{1}{4}$
--------------------------------------	--------------------------------------

14.7 Cont

3) $P_1 = \left(\frac{+13}{64}, \frac{-13}{32}\right)$ $P_2 = (0, 0)$ $P_3 = \left(\frac{-1}{4}, \frac{1}{2}\right)$

Based on contour map,

P_1 is local min
P_2 is saddle pt
P_3 is local min

5) $f(x, y) = y^2x - yx^2 + xy$

a) $f_x = y(y - 2x + 1) = 0 \Rightarrow y = 0 \quad y - 2x + 1 = 0 \quad y = 2x - 1$
 $f_y = x(2y - x + 1) = 0 \quad x = 0 \quad 2y - x + 1 = 0$

$\begin{cases} x - 2 - x + 1 \\ 3x - 1 = 0 \\ x = \frac{1}{3} \end{cases}$

b) @ $x = 0, y - 2(0) + 1 = 0, y = 1 \checkmark$

@ $x = 0, 2y - (0) + 1 = 0, y = -\frac{1}{2} \times$

@ $y = 0, 0 - 2x + 1 = 0, x = \frac{1}{2} \times$

@ $x = 0, y = 0 \checkmark$

@ $y = 0, 2(0) - x + 1 = 0, x = 1 \checkmark$

@ $x = \frac{1}{3}, \dots, y = \frac{1}{3} \checkmark$

c) $P_1 = (0, 0)$ $P_2 = (0, -1)$ $P_3 = (1, 0)$ $P_4 = \left(\frac{1}{3}, \frac{1}{3}\right)$

$f_{xx} = -2y$ $f_{yy} = 2x$ $f_{xy} = 2y - 2x + 1$

14.7 Cont

$$5) D_1 = 0 \cdot 0 - (0 - 0 + 1)^2 = -1 \quad P_1: \text{Saddle Pt}$$

$$D_2 = (-2(-1))(0) - (2(-1) - 0 + 1)^2 < 0 \quad P_2: \text{Saddle Pt}$$

$$D_3 = (0 \cdot (-1)) - (2(0) - 2(1) + 1)^2 < 0 \quad P_3: \text{Saddle Pt}$$

$$D_4 = \left(\frac{2}{3} \cdot \frac{2}{3}\right) - \left(2\left(\frac{2}{3}\right) - 2\left(\frac{1}{3}\right) + 1\right)^2$$

$$\frac{4}{9} - \left(-\frac{4}{3} + 1\right)^2 = \frac{4}{9} - \frac{4}{9} = 0, \quad f_{xx} > 0 \circ \circ$$

P_4 is local Min

$$7) f(x, y) = x^2 + y^2 - xy + x$$

$$f_x = 2x - y + 1 = 0 \Rightarrow 4y - y + 1 = 0$$

$$f_y = 2y - x = 0 \quad x = 2y$$

$$f_{xx} = 2 \quad f_{yy} = 2$$

$$f_{xy} = -1$$

$$D = 4 - (-1)^2 = 3 > 0;$$

$$f_{xx} > 2;$$

$\therefore P = \left(\frac{2}{3}, \frac{1}{3}\right)$ is a local min

$$(1) f(x, y) = 4x - 3x^3 - 2xy^2$$

$$f_x = 4 - 9x^2 - 2y^2 = 9x^2 + 4 - 2y^2 = 0$$

$$f_y = -4xy = 0$$

14.7 Cont

$$(1) \quad f_x \stackrel{\text{@ } y=0}{=} -9x^2 + 4 = 0 \Rightarrow (-3x+2)(3x+2) \Rightarrow \boxed{x = \frac{2}{3}, -\frac{2}{3}}$$

$$f_x \stackrel{\text{@ } x=0}{=} 4 - 2y^2 = 0 \Rightarrow (2 + \sqrt{2}y)(2 - \sqrt{2}y) \Rightarrow \boxed{y = \frac{1}{\sqrt{2}}, -\frac{1}{\sqrt{2}}}$$

$P_1 = (\frac{2}{3}, 0)$	$P_2 = (-\frac{2}{3}, 0)$
$P_3 = (0, \frac{1}{\sqrt{2}})$	$P_4 = (0, -\frac{1}{\sqrt{2}})$

$$\left[\begin{array}{l} f_{xx} = -18x \\ -4y \end{array} \leftarrow \begin{array}{l} f_{xy} = -4y \\ f_{yx} = -4x \end{array} \right] \quad D_i = +72(x_i \cdot y_i) - (16y_i^2)$$

$$D_1 = +72(0) - (16(0)^2) = 0 \quad \underline{\text{Inconclusive}} \text{ for } P_1$$

$$D_2 = \dots = 0 \quad \underline{\text{Inconclusive}} \text{ for } P_2$$

$$D_3 = 72(0) - (16(\frac{1}{2})) < 0 \quad \underline{P_3 \text{ is a saddle Pt}}$$

$$D_4 = 72(0) - (16(\frac{1}{2})) < 0 \quad \underline{P_4 \text{ is a saddle Pt}}$$

14.7 Cont

$$(13) f(x, y) = x^4 + y^4 - 4xy$$

$$f_x = 4x^3 - 4y = 0 \Rightarrow x^3 = y \quad x = \sqrt[3]{y}$$

$$f_y = 4y^3 - 4x = 0 \Rightarrow y^3 = x = \sqrt[3]{y}$$

$$P = \begin{cases} x=0 \\ y=0 \end{cases}$$

$$y^9 = -y \Rightarrow y^9 + y = 0$$

$$y(y^8 + 1) = 0$$

$$y=0$$

$$y = \sqrt[8]{-1} \\ \text{???}$$

$$\begin{bmatrix} f_{xx} = 12x^2 & f_{xy} = -4 \\ -4 & f_{yy} = -12y^2 \end{bmatrix}$$

$$D = -144(0 \cdot 0) - (16) = -16 < 0$$

$P = (0, 0)$ is a saddle point

$$(19) f(x, y) = \ln(x) + 2\ln(y) - x - 4y$$

$$f_x = \frac{1}{x} - 1 = 0 \quad x=1$$

$$f_y = \frac{2}{y} - 4 = 0 \quad y = \frac{1}{2}$$

$$P = \left(1, \frac{1}{2}\right)$$

$$f_{xx} = -\frac{1}{x^2}$$

$$f_{xy} = 0$$

$$D = \frac{2}{x^2 y^2} - 0 = \frac{2}{\frac{1}{4}} = 8 > 0$$

$$f_{xx}\left(1, \frac{1}{2}\right) = -1 < 0$$

$$0$$

$$f_{yy} = -\frac{2}{y^3}$$

$P = \left(1, \frac{1}{2}\right)$ is a local max

14.7 Cont

21) $f(x, y) = x - y^2 - \ln(x+y)$

$f_x = 1 - \frac{1}{x+y} = 0 \quad \underbrace{x+y=1}$

$f_y = 2y - \frac{1}{x+y} = 0 \quad 2y(x+y) = 1 \quad 2y = 1, \quad \boxed{y = \frac{1}{2}, x = \frac{1}{2}}$

$f_{xx} = \frac{1}{(x+y)^2}$
 $f_{xy} = \frac{1}{(x+y)^2}$
 $f_{yy} = 2 + \frac{1}{(x+y)^2}$

$P = (\frac{1}{2}, \frac{1}{2})$

$D = \left(\frac{1}{1}\right)\left(2 + 1\right) - \left(\frac{1}{1}\right)^2 = 2 > 0$

$f_{xx}(\frac{1}{2}, \frac{1}{2}) = 1 > 0 \therefore$

P is a local min

23) $f(x, y) = (x+3y)e^{y-x^2}$

$f_x = e^{y-x^2} + (x+3y)(-2x)e^{y-x^2} = \cancel{e^{y-x^2}}(-2x^2 - 6xy + 1) = 0$

$f_y = 3e^{y-x^2} + (x+3y)(1)e^{y-x^2} = \cancel{e^{y-x^2}}(x+3y+3) = 0$

$\boxed{y = \frac{-3-x}{3}}$

$-2x^2 - 6x\left(\frac{-3-x}{3}\right) + 1 = 0$

$-2x^2 - 2x(-3-x) + 1 = 0$

$-2x^2 + 2x^2 + 6x + 1 = 0$

$\boxed{x = \frac{1}{6}}$

$y = \frac{-3 - \frac{1}{6}}{3} = \frac{-17}{6} \cdot \frac{1}{3} = \frac{-17}{18}$

$\boxed{P = \left(\frac{1}{6}, \frac{-17}{18}\right)}$

14.7 Cont

29) $f(x, y) = x + y$ $0 \leq x \leq 1$ $0 \leq y \leq 1$

Abs Max: $P(1, 1)$ $f(1, 1) = 2$

Abs Min: $P(0, 0)$ $f(0, 0) = 0$

35) $f(x, y) = x + y - x^2 - y^2 - xy$ $0 \leq x \leq 2$, $0 \leq y \leq 2$

a) $f_x = 1 - 2x - y = 0$ $y = 1 - 2x$

$f_y = 1 - 2y - x = 0$ $1 - 2(1 - 2x) - x = 0$ $3x = 1$ $\boxed{x = \frac{1}{3}, y = \frac{1}{3}}$

$\boxed{f\left(\frac{1}{3}, \frac{1}{3}\right) = \frac{2}{3} - \frac{2}{9} - \frac{1}{9} = \frac{1}{3}}$

b) $f(x, 0) = x - x^2$ $f(0, 0) = 0$

$1 - 2x = 0$

$x = \frac{1}{2} \rightarrow$

$f(2, 0) = -2$ Abs Min on Edge

$f\left(\frac{1}{2}, 0\right) = \frac{1}{2}$ Abs Max on Edge

c) $f(x, 2) = x + 2 - x^2 - 4 - 2x = -x^2 - x - 2$ $f(0, 2) = -2$
 $f_x(x, 2) = -2x - 1 = 0$ $x = -\frac{1}{2}$ $f(2, 2) = -8$

$f(0, y) = y - y^2$

$f_y(0, y) = 1 - 2y \Rightarrow y = \frac{1}{2}$

$f(0, 0) = 0$

$f\left(0, \frac{1}{2}\right) = \frac{1}{2}$

$f(0, 2) = -2$

d) Abs Max on Square: $f\left(0, \frac{1}{2}\right) = f\left(\frac{1}{2}, 0\right) = \frac{1}{2}$

Abs Min on Square: $f(2, 2) = -8$